


Today we wil be looking at e Area Model
Girateqy of Muttiplication

This is e strategy we feach our students 1o

use when muttiglying.




Slandard:

NETH: Multiply a whole number of up to
four digits by a one- digit wiole number,

and multiply Two two-digit numbers.




For an area model, we need to create a diagram to

show our partial products.
54x3=___

Step 1. =
Decompose 54 into 50 and 4 3 50 x 3=150

and place them in our model.

Step 2
Place your other factor into

the model.

Step 3
Match the factors and
multiply.

Step 4:
Match the second set of | 54 x 3 =162
factors and multiply.

Step S
Add the products




Skep | Let's decompose our first
nfvxri)or.’l4=10+4‘lhesembers
90 info our model across the top.

Step 1: Decompose the second factor.
ZfV=ZO+4.Thcsenmbersgohfo
our model o the side.

Step 5 Begin matthing our boxes 1o

MUY

Stey 4: Confinue to e next box and
matth and muttiply.

Step b: Continue 1o the next box and
mafch and wultiply.

Skep b Continue to he next box and
mafth and multiply.

Sty T Add o find the product.

10

4

. °
20 x 10 = K00

4
»20x4 =9

4
»4x 0 = 28

\ 4
D4x4=1




Srep | Lets decompose our first
n?n’imr.’l”l=40+”l‘fhcsemmbers
90 info our model across the top.

Step 1: Decompose the second factor.
3K30+b.‘fhascnmbers@o'vﬂv
our model fo the side.

Step 5 Begin matthing our boxes 1o
MUY

Stey 4: Confinue to e next box and
matth and muttiply.

Step b: Continue 1o the next box and
match and muttiply.

Skep b Continue to he next box and
match and muttipty.

Sty T Add o find the product.

M x %

1

1

. °
20 x99 =270

\ 4
»30xq=170

4
Dy x N =540

4
Dy xq =54




Please take our surveyl



